BEERBERSRE=2LT - Ay 1R AR B8

BMREE MRBFAMIIE BERIATRER =
No.| *722 | st A mERe | Mo | ES 4 =
1] 1- A |FIRE() 11A298 0.06
2 | 1-2 SIEET  (FRHE(2) 11A298 0.06
3| 1-3 MR |FIRE(3) 11A298 0.07
41 1-6 MR |FIRE4) 11A298 0.08
5| 1-7 E=2: I I G D 11A298 0.10
6 | 1-10 B | TW(2) 11A29H 0.10
7| 2-3 MR |F1RE(5) 11A298 0.05
8 | 2-4 2IEET  (FNRHE(6) 11A298 0.05
9 | 2-5 AR |FIRE(7) 11A298 0.11
10| 2-6 M= |FIRE(8) 11A298 0.10
11| 31 2IEET (FRHE(9) 11A298 0.06
12| 3-2 F=ZET |FIRE(10) 11A298 0.06
13| 3-5 FsZET |FIRE(1) 11A298 0.10
14| 3-6 RiEHT |FRE(12) 11A298 0.10
15| 3-7 FsZET |FIRE(13) 11A298 0.08
16 | 3-8 F=ZET |FIRE(14) 11A298 0.12
17| 4-1 RiEHET |FRE(15) 11A298 0.07
18| 4-2 F=ZET |FIRE(16) 11A298 0.06
19| 4-3 F=ZET |FIREC(7) 11A298 0.06
20 | 4-4 RiEMET |FRE(18) 11A298 0.07
21| 4-5 F=ZET |FIRE(19) 11A298 0.09
22 | 4-7 FISZHET |FIRE(20) 11A298 0.11
23 | 4-8 RiEET |FIRE(21) 11A298 0.08
24| 4-9 F=ZET |FIRE(22) 11A298 0.09
25 | 5-1 FI=ZET |FIRE(23) 11A298 0.05
26 | 5-2 RiEHET  |FRHE(24) 11A298 0.06
27| 5-5 FI=ZHET |FIRE(25) 11A298 0.08
28 | 5-6 FI=ZHET |FIRHE(26) 11A298 0.09
29 | 5-7 RiEHET |FIRE(27) 11A298 0.11
30| 5-8 FI=ZHET |FIRE(28) 11A298 0.10
31| 59 FI=ZET |FIRE(29) 11A298 0.10
32| 5-10 RiEHT |FRHE(30) 11A298 0.10
33| 6-1 FI=ZET |FIRE(31) 11A298 0.06
34| 6-2 FI=ZET |FIRE(32) 11A298 0.06
35| 6-3 SUEET  (FNRHE(33) 11A298 0.06
36 | 6-4 FISZHET |FIRHE(34) 11A298 0.09
37| 6-5 A=l |F1RHE(35) 11A298 0.10
38| 6-6 RiEHT |FRHE(36) 11A298 0.09
39 | 6-7 FIsZET |FIRE(37) 11A298 0.08
40 | 6-8 A=iEE |F1RHE(38) 11A298 0.08




BERERERSRE=SILT Ay lE GHERAT) BR

BMREE MRBFAMIIE BERIATRER =
No.| #2722 | st Az A mapa | MEE ) EE 4 =
41| 6-9 A= |F1RHE(39) 11A298 0.08
42 | 6-10 2UEET |FNRHE(40) 11A298 0.09
43 | 71 A |FIRE41) 11A298 0.06
44| 7-2 AR |FIRE42) 11A298 0.05
45 | 7-3 SUEET  (FRHE(43) 11A298 0.05
46 | 7-4 AR |FIRHE(44) 11A298 0.08
47| 7-5 A= |FIRHE(45) 11A298 0.10
48 | 7-6 AR |F1RHE(46) 11A298 0.09
49 | 7-7 AR |FIRE47) 11A298 0.10
50 | 7-8 AT |FNRHE(48) 11A298 0.09
51| 7-9 A= |FIRHE(49) 11A298 0.09
52 | 7-10 A=iEE |f1RHE(50) 11A298 0.09
53 | 8-5 SUEET  (FIRE(ST) 11A298 0.10
54 | 8-6 A= |fIRHE(52) 11A298 0.09
55 | 8-7 A=l |F1RHE(53) 11A298 0.09
56 | 8-8 2UEET  |FRHE(54) 11A298 0.09
57 | 8-10 A= |f1RHE(55) 11A298 0.08
58 | 9-6 A=l |f1RHE(56) 11A298 0.10
59 | 9-7 2UEET (FIRE(57) 11A298 0.09
60 | 9-8 A= |f1RHE(58) 11A298 0.08
61| 9-9 A= |F1RHE(59) 11A298 0.09
62 | 9-10 2EET  |FNRHE(60) 11A298 0.08




